embly

evist.cloud/dc-650ck-base-ass

alog-q

https://jpw-cat

DC-650CK Base Assembly

Product Images



https://jpw-catalog-qa-b2c-5.corevist.cloud/dc-650ck-base-assembly

Description

Index
Number

1

2

10

11

12

13

14

18

20

21

22

23

24

25

26

Part Number

422109W
MH422001
CA020010
994612
994613
M4220F
MJ422001
994534
1C422001
423023
412025W
410030
AB410033
423038W
423044
410003
422018W
TS-1534042
KS050525
TS-0561031
TS-059303
NH602303
TS-0050011
TS-1482021
TS-1490011

TS-1534042

Description

Impeller Housing

Motor

Starting Capacitor (not shown)
Centrifugal Switch (not shown)
Centrifugal Switch Rotor (not shown)
Motor Fan

Switch Box

On/Off Switch

Power Cord

Packing

Flange

Flange Packing

Impeller

Base

Fixed Caster

Pivoting Caster

Support Cylinder

Pan Head Screw

Key

Hex Nut

Cap Nut

Hex Nut (LH)

Hex Cap Screw

Hex Cap Screw

Hex Cap Screw

Pan Head Screw

https://jpw-catalog-qa-b2c-5.corevist.cloud/dc-650ck-base-assembly

Size

200MFD, 125V

9301A

9-1/2”

M6x12

5x5x25 mm

3/8"-16

3/8"-16

5/8"

1/4"-20x1/2"

M6x12

M8x12

M6x12

Qty

7/18/25


https://jpw-catalog-qa-b2c-5.corevist.cloud/dc-650ck-base-assembly

27

28

29

30

31

32

33

34

37

TS-1503041

TS-1550041

TS-1550041

TS-1550061

TS-1550071

TS-155010

TS-2361061

AB420937

ZAYW1124

420937

DCRC-111

ST040200

DC-IGW

DC-MBW

STRIPE-1-3/4

DC650C-HP

Additional Information

Socket Head Cap Screw

Flat Washer

Flat Washer

Flat Washer

Flat Washer

Flat Washer

Lock Washer

Inlet Guard Assembly

Intake Port

Inlet Guard

Tapping Screw
Tapping Screw
Inlet Guard Warning Label (not shown)

Motor Bracket Warning Label (not shown)

JET Stripe

Hardware Package

M6x16

M6

M6

M8

M10

M16

M6

4!1

M3.5x10

M4x10

1-3/4" wide

per ft

Stock Number

Products in this set

708642CK-1

https://jpw-catalog-qa-b2c-5.corevist.cloud/dc-650ck-base-assembly

7/18/25


https://jpw-catalog-qa-b2c-5.corevist.cloud/dc-650ck-base-assembly

